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® 0<tanx<1 @ -2<sinx<-1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0
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34° 0,5592 0,8290 0.6745
35° 0,5736 0,8192 0,7002
36° 0.5878 0.8090 0.7265
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2 36° = — = 0.8090
(2) cos 5
. z=50x%0.8090 = 40.45
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@tan 45° @ sin40° ® sin45°
@ cos30° ® cos40°

cos 30° = 0.8660, sin40° = 0.6428
sin45° = 0.7071, cos40° = 0.7660
tan 45° = 1.000
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LoLx+ Ly =117°
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A
B C
1
@ cosA = cosC @ tanC = e @tanC =
@ sin A = cos A ® cosC =
cosA
AB CB
tan C = =9 tanAz C= O]_U_.i tanC = O]
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@ 6V3 (m) @16 V3 (m)
® 20V3 (m) @ 68V3 (m)
® 70V3 (m)

B

AH =12+ 4V3cos30°

:12+4\/§x§

=18 (m)
ﬁ:4\/§sin30°:4\/§x%:2\/§ (m)

CH = AH-tan60 = 183 (m)
.. CD=CH-DH=18V3-2V3=16V3 (m)
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(1) APAD @ AQBD ©]|2&

BD = xcm =F SHH,

QB:PA=BD:AD

2:6=x:(x+38)

T x=4

(2) MAF H22 APAD of|A]

A& APC & Al FHo|rt.

APAD = AZMZHgol B2

PD = VAD’ -PA” = V22— 62 = 6 V3(cm)
webA], /PAC = 60° O] B2
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EP=EB=x-10
AE=10-(x-10)=20-x
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40x = 500
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